XYZ,=96.42, 100.0 , 82.49

8, =3[ (x=X) /)
bz bylz/y
=1, b,y =04

X, = 0,110, B, = 1,000
— 2
Cago=[A+B;]
6 Ostwaldcolours (o)
of maximum (m) C,
linear colour space Cyg 5. Y) K
llumin. DSO. ¥,,=100 Y,=50 s- - - e
Name Range X, ¥, 2, % v, A A -50
R, 5707758072 7007 4135 042 '0.3645 598 401
V) 496775 B9.81 97.06 4346 0.3899 0.4214 573 468
3, 474575 50.98 8141 49.85 0.3136 0.4256 526 5260
C, 380_57064.05 80.07 8251 0.2826 0.3532 491 598 Parameter:
Vi, 75474 40 6030 T40n 047 000 St e ame
" h
575
W, 380_775 96.42 100.0 82.49 03457 0.3585 100% lluminant D50
N, 3807775 4821 500 4124 03457 0.3585 50% Y,,=100 Y,=50

Z, 380_77517.35 180 14.84 03457 03585 18%
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